Yvuceh scenario repr . '
water tank is filled at a rate of 9 gallons/min MUIHp l >/ / iy clpcomputations.
o nsTmmte,

((’(Zr A vine grows 6 inches every week el gmwg o decays
3 . - T, . t;f’\f,\:*r g ,
&):;Efﬁ:s of fly @?S)ts population every month during the | \% ’y

. MRS (e xmongny iak)

A cax - . ]
increases its distance from a garage as it travels at a constant |
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# 13 What type of relationship exists between the number of pages printed
on a printer and the amount of ink used by that printer?
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(4) negative correlation, and causal

14 A computer application generates a sequence of musical notes using

the function fin) = 6(16)", where n is the number of the note in the

sequence and f{n) is the note frequency in hertz. Which function will
generate th@ same no

te sequence as fin)?
(1) g(n) = 12(2) "
(n) = 6(2)"

(3) p(n) =12(4)
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15 Which value of x i . .
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17 When the function flx) = x* is multiplied by the value a, where a > 1,
the graph of the new function, g(x) = ax?
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(3) opens upward and is narrower 3
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(4) opens downward and is narrower
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27 Solve the inequality below:
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28 Yakob is working on his math homework. He decides that the sum of the expression - Ly B

must be rational because it is a fraction. Is Jakob correct? Explain your reasoning, /
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M@h friends went to a restaurant and orderEIain pizza and twh sodas, Their bl totalec
mr that day.@ friends went to the same restaurant. They ordereC@__LImm
and each person hadoneyoda, Their bill totaled $45.90.

Write, and salve a system of equations to determine the price of one Plain pizza. [Only an algebraic
ution can recey :
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